= Xy

odd ) (cm)
a(d dz) (cm)

1072

.9 L.J.ql:_ ; ; i 1 1111 : .éOI.L_! 11 1 1111 : 11 1 : 11 : 111 | 1111 :
E M o o * + E H: -+
0’105 == B el e Rl S 0’105k B :
]_: b ¥ E SRR -+ T - 1:: -+ --T—n— 1 -4
: : : H: : TEH T
i: : : + | : H: : +
0.950 i i i i 0.950 i i i i
-3 -2 -1 0 1 2 3

|
w

|
N

|
=
o
|
N
w

—=— DQM_CKF_TTbase m|ine)
—e— DQM_CKF_TT retrainOIldFiles113
—— DQM_CKF_TT_retrainOIldFiles125

o(d o) (rad)
o(3p_/p.)

=
<

1071

Rati
Rati

N
g
o e s

3 2 1 0 1 2 3 09351 o0 1 2 3

TP @ (PCA to beamline) TP @ (PCA to beamline)

0.95




	Contents
	Page 1


